04451 Bl E R MAYERER &

7= miiEA

MR

BEXENBEREMAHEEHITZERXRE,
HREEERTLUERBRANRE N,
FRFERERATHETHTRE

FAXZERE , IR ETHL2E8AES , ARIHREMIEEN
EERMFM L,

BERERPPERI , TUBHREXENSFTLEIME,
BHITE  M12 = +1.0 mm, M16 = £1.5mm,

M
BERAMRE TR A ARN,

g
BERNMKETHLRBNLNBEE/LLE,

BR:

EXREE ENBENET AL TSN L EER , UEBKENTH
RERE,

KERERASSRE., XEMNTEERR,

HEEE -
R E,
B iR

HERET
AR REBRER
BE : WEXEME
DHE: AMIRE
E & : w84

© norelem www.norelem.com



04451 FwREEFMHEFEXE

@ <l =L
s =L ":E‘ e =L E‘
—t . 1 —+— x - . X I
T T T 1 1 T
Ly RN - R = i i= e
Uy ¥,/ oy t,/[d
/L ﬁ B1 % i Bt
: @5]@@ - é]@@
® <L
B=100
o > . _.B2,B2 B=50/72
= *;::
- — :f
— - !
N el L gH
HEH o/ El
iy
m :
04451-0500112 A & 88,5 94,5 50 25 | 30 | - 125 | 35 | - -
04451-0720112 A & 113,3 120,7 72 397 | 44 | - 213 | 35 | - -
04451-0720116 A o8 113,3 120,7 72 397 | 44 | - 213 | 35 | - -
04451-1000116 A 8 1215 1315 | 100 426 | 64 | - 216 | 5 | - -
04451-0500212 B & 88,5 94,5 50 25 | 30 | - 125 | 35 | - 5
04451-0720212 B & 113,3 120,7 72 397 | 44 | - 213 | 35 | - -
04451-0720216 B & 113,3 120,7 72 397 | 44 | - 213 | 35 | - -
04451-1000216 B 5 121,5 1315 | 100 426 | 64 | - 216 | 5 | - -
04451-0500412 D ENIZE 98,5 104,5 50 25 | 30 | - 125 | 35 | - -
04451-0720412 D BENMIAE 1233 130,7 72 397 | 44 | - 213 | 35 -
04451-0720416 D BENIZE 1233 130,7 72 397 | 44 | - 213 | 35 | - -
04451-1000416 D EMI&E 131,3 1412 | 100 426 | 64 | - 216 | 5 | - -
04451-0500512 E HRY4T 98 104 50 25 |30 | 18 125 | 35| 9 | 475
04451-0720512 E R 122,7 130.1 72 397 | 44 | 27 213 | 35 | 9 | 475
04451-0720516 E EREET 122,7 130.1 72 397 | 44 | 27 213 | 35 | 9 | 475
04451-1000516 E BRAT 130,7 140,6 | 100 426 | 64 | 40 216 | 5 | 9 | 475
04451-0500112 A KB M5 M12x30 M12x25 30 85
04451-0720112 A ' M6 M12X50 MA2X40 30 85
04451-0720116 A o' M6 M16x50 M16X40 50 150
04451-1000116 A X' M8 M16x50 M16X40 50 150
04451-0500212 B & M5 M12x30 M12x25 30 85
04451-0720212 B T M6 M12X50 M12X40 30 85
04451-0720216 B & M6 M16x50 M16X40 50 150
04451-1000216 B & M8 M16x50 M16X40 50 150
04451-0500412 D BEMIZE M5 M12x30 M12x25 30 85
04451-0720412 D EMIZE M6 M12X50 MA2X40 30 85
04451-0720416 D AEMISE M6 M16x50 M16X40 50 150

© norelem www.norelem.com




04451 W EE MR RKE

el

TR E

D
PRL

G
MABIRL
DIN 912

z
MAARL
DIN 912

REH
max. kN

04451-1000416

M16x50

M16X40

D
04451-0500512 E HEHET M5 M12x30 M12x25 30 85
04451-0720512 E LT M6 M12X50 M12X40 30 85
04451-0720516 E AT M6 M16x50 M16X40 50 150
04451-1000516 E L M8 M16x50 M16X40 50 150

© norelem www.norelem.com




